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img = Image.new("L", (256, 256), 255)
draw = ImageDraw.Draw(img)

cx = 128
cy = 128
r = 96

draw.ellipse((cx - r, cy - r, cX + r, cy + r))
N =23
s=2*pi/N
for 1 in range(N):
sl =s*1 - 0.5 * pi
s2 = sl +s * Kk

x1 = r * cos(sl) + cx
yl = r * sin(sl) + cy
X2 = r * cos(s2) + cx
y2 = r * sin(s2) + cy

draw.line((x1, y1, x2, y2))
sl = s*(i+0.5) - 0.5 * pi
s2 =s1 +s * Kk

x1 =r * cos(sl) + cx
yl = r * sin(sl) + cy
X2 = r * cos(s2) + cx
y2 = r * sin(s2) + cy

draw.line((x1, y1, x2, y2))
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def plot(draw, s):
hs = s // 2
red = (255, 0, 0)
green = (0, 255, 0)
blue = (0, 0, 255)
for x in range(s):
for y in range(s):
z = complex(x - hs + 0.5, -y + hs + 0.5) / s * 4
z = newton(z)
# CCEIBEOHL
if z.real > 0.0:
c = red



else:
if z.imag > 0.0:

C = green
else:
c = blue

draw.rectangle([x, vy, x + 1, y + 1], fill=c)

def newton(x):
for _ in range(10):
X =X - (x**4 - 1) / (4 * x**3)
return x

def plot(draw, s):

hs = s // 2
red = (255, 0, 0)
green = (0, 255, 0)
blue = (0, 0, 255)
purple = (255, 0 ,255)
for x in range(s):

for y in range(s):

z = complex(x - hs + 0.5, -y + hs + 0.5) / s * 4
z = newton(z)
# CCEEHKX

if z.real + z.imag > 0.0:
if z.real - z.imag > 0.0:

c = red

else:
c = purple

else:

if z.real - z.imag > 0.0:
C = green

else:
c = blue

draw.rectangle([x, vy, x + 1, y + 1], fill=c)

def collatz(i):
print(i)
while (i!=1):
if (i%2==0):
i=1i// 2
else:
i=1i*3+1
print(i)
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HRERE

def collatz_graph(i, edges):
while (i!=1 and i!=3):

j=1
if (i%2==0):
i=iv//2

else:
i=1i*3+3
edges.add((j, 1))
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def kaidan(n):
# HImSRMG
if n==1:
return 1
if n==2:
return 2
# BN
return kaidan(n-1)+kaidan(n-2)

iReda2-1

def solve(x, y, step, maze):

if maze[x][y] == "*':
return

if isinstance(maze[x][y], int):
return

maze[x][y] = step

solve(x+l, y, step+l, maze) # H&EIRZE
# FZID&EEDHL

solve(x-1, y, step+l, maze)

solve(x, y+1, step+l, maze)

solve(x, y-1, step+l, maze)

HIE

ZTOERFXEFTIZE, UWTOLSICEBRDECEECAICENRNIENDS "ERV ., I EET S,



(AL LW

EUERD "ERV 1 A"RETIDIE. EHROETZILOENONS255QEEMNSBATCUESHRE, B
BovdlZBNT, EMEEBRLUTLBECBET. WTOLDICHRIMEERREZIEELTYLRE TER
U <3,

np.asarray(ur * sr * vr)
np.clip(b, ©,255) # RIMEERKEZIEE
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BEICRIFEZEMT 3,

def calc(code):
data = code.split()
stack = []
for x in data:
print(stack, x, end=" => ")
if x == '"+';:
b = stack.pop()
a = stack.pop()
stack. append(a+b)
elif x == '-":
b = stack.pop()



a = stack.pop()

stack.append(a-b)
# AR &IEN
elif x == "'*':

b = stack.pop()

a = stack.pop()

stack.append(a*b)
elif x == '/":

b = stack.pop()

a = stack.pop()

stack.append(a//b)
else:

stack.append(int(x))
print(stack)

print(stack.pop())

HRERE

BIZILT1+2*3-4, OFITHNIE FTUTEETI 3,

dis.dis("a + b * ¢ - d")

I5LE UTOESBERNELNS,

LOAD_NAME
LOAD_NAME
LOAD_NAME
BINARY_MULTIPLY
BINARY_ADD

10 LOAD_NAME

12 BINARY_SUBTRACT
14 RETURN_VALUE

oo h~DNO

ChERBHSE, BR-3Y REEEEHITS,

e 'EEENTLICL

calc("1 2 3 * +4 -")

[]1=>1[1]

[1] 2 => [1, 2]

[1, 2] 3 => [1, 2, 3]
[1, 2, 3] * => [1, 6]
[1, 6] + => [7]

[7] 4 => [7, 4]

0 (a)
1 (b)
2 (c¢)

3 (d)
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[7, 41 - => [3]
3
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second_choice = choice(rest_boxes) # —_ZiEHL(1)

e, RYICBALEDNERTIIRMN LGSR, RISESFHEIIUTERICRDZIDT

second_choice = answer # CCZIEHL(2)
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def gacha
cd =
posters = []
while len(set(posters)) < n:
posters.append(random.randint(1, n))
cd +=
return cd
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def laplacian
ts =
ts += s[m+1][n]
ts += s[m-1][n]
ts += s[m][n+1]
ts += s[m][n-1]



# CC&EBEHL
ts -= 4*s[m][n]
return ts



